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In [2]: y = "next_mnth_pv"
T = "mkt_email"
X = list(data_rnd.drop(columns=[y, T]).columns)

train, test = data_biased, data_rnd
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Ho(x) = E[Y|T = 0,X]
W (x) = E[Y|T = 1,X]
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In [3]: from lightgbm import LGBMRegressor
np.random.seed(123)

mo
ml

LGBMRegressor ()
LGBMRegressor()

mo.fit(train.query(f"{T}==0")[X], train.query(f"{T}==0")[y])
ml.fit(train.query(f"{T}==1")[X], train.query(f"{T}==1")[y]);
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In [4]: t_learner_cate_test = test.assign(
cate=ml.predict(test[X]) - mO.predict(test[X])
)
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lim_ E[Yt|R:r] = lim+ E[Yt|R:r]

r—>c r—>c¢
lim E[T,|R=r] = lim E[T,|R=7]
r—>c roc
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